To be able to count in 10s

Starter:
Which one does not belong?

) ¢ 58 &8

Explain your answer.
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Activity 1:
Complete the sentences below. %

Each crab has ___ legs.

There are ___ crab legs in total.

There are ___ crabs. g E g E
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Activity 2:

Complete the sentences below.

Each bowling lane has ___ pins.
There are ___ lanes.

There are ___ bowling pins in total.
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Activity 3:
What is missing from the sequence below?
Make a sketch to help explain your answer.
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Activity 4:

Use a number bead string or Rekenrek to help you complete the number track.
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Activity 5: 11|12 (13|14 [15 |16 |17 [18 19|20

Use the hundred square to shade in all
the numbers that are said out loud

when counting in 10s up to 100. 31(32(33(34|35|36|37|38|39 |40

41|42|43|44|45|46 |47 484950
What do all of the numbers have in

common? 51|52 (53|54 55|56 |57|58 59|60
What is different about each of the 61 (62|63 |64 |65|66|67|68|69|70
numbers?

) 71|72|73|74 |75 |76 | 77|78 |79 |80
Explain your answer.

81|82|83|84|85|86|87(88|89|90

9192193 |94 95|96 |97 9899|100
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Evaluation:

Activity 6:
James is doing some addition calculations.

He needs to use more than 40 counters.
Counters are given out in lots of 10.

Does James have enough counters?

If | count in 10s
from 0 to 100, | will
say 55 out loud.
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Explain your answer.

Do you agree with what Astrobee has said?
Explain your answer.




